oA 7ZH H A

5
12 Blus3f-YDRET
) (NAZE)

Al

GE #H

(1] 183~y P aFEnizs A 2803
<~ F3EWIZI AFESTWNET, 1
HEE 28EE TR, EHELDO~y B
ZATNDENZET D,

. 1HE 8+4=2
2¥t 9-+-3=3

< b1 FEWNYZIZEDL NED,
LEEE2 AN, 28HE3 A&7 D,

Bz ( 2HOITNZATND,)
A, B, COISEIRD, Zh

TWOIEERZFINEL X 9,
) SE/PNREOWEE O SEDHK

mifE (m) | 9 S X0 (V)
A 6 9
B 6 8
C 5 8
X A 9+6=1.5
B 8+6=1.33"
C 8+5=1.6

1 ni 7201205 5 & EDEN,
AlX1L.50E, BIF L33V,
CiTlLeUV&E L%,

%% (C. A, BOIEIZZATWNS,)

3] 4 DAL Az 32 HOBRIR % |
6 md DIETZ ANTIT 48 H D ERAR 24l 2
FLz, EHE0DHETEANR, AT
WD EWZET I,

. 32+-4=8
48-+-6=8

EHEHH, 1 mY7=Y 8 EDOEKR
PHEZ DNTWAZ Lz b,

Zxz (EHbbhb, ZHSHWIEFIL,)

4] 6 Wi 486 A>T HARVVER
&, 8 MIZ 608 A>TV DHHWVE
HRHVET, EHLOHBIATND
EWVRET

A R 486+6=81
H 608+8=76

172 D IZ3 > TV D AN,

TRWVEHIX 81 A, HFWEHIL 76 A
LB,

Bz GROVEEDOFNZATNAS,)




B0 fA 7 B A H
5% M
14 Hus437-UDXES N
2 (ANOZBE) Al

AT OERIT 65k nf T, AMIE
18655 ANT4, ATiDANMNEEZ K
WEL LD,

. 18655+-65=287

Zxz ( 1kmY72v 287 X )

2] FoFid, KT LETOAD
CHBEAEERELTHET, 2 DOHOD
ANOBEZHEL LI,

52 N a B AL
T, BHTROELL I,

A (N | @S (k ob)

2525153 222

KBrfi
R

3605951 437

e
KPR 2525153 +222=11374. 56---

KEIETH 3605951 +437=8251. 60---

PN
AT

#1 11375 A
18252 A )

8] HaFOANHEET 1k i
21 AT, AAIX 1176 ATY, ZD
R OHEFEIEAT k nd TI D,

. 1176+-21=56

ez ( 56k )

[4] ZoR&S AOITOERIT 45k of
T, NAEEIT 260 AT, 2ok
S ADHTD N BIIT A TT D,

. 260X45=11700

ANEBEEL 1k mi24720 O ANEIZ )

5.1k ndlZ 260 AWA V) T LT,
45k M7= L 260X45 L7 F4,

A

11700 A )




B ATZH H A

55
14 BHEZYDKSS
3 (ANOEE)

Al

F il

1 ALBO2BEOHBERH D £,

ADOBHEYHEX, 35L AV Y T
700km I E T,

BOHBEHEIX, 50L OH VY T
800km EALE T,

HIV L DEEEDEDDIZON
T, A, BEIFEL 1,

O YV 1L B TENLDHED
DTHEL XD,
X A 700+35=20
B 800+50=16
1L 24720 20km ENLDH A L,
IL %4720 16km £E45 B Tl
ADFM, IL Y= E<ENS,

Bz (A ) OEHBIEDON,
HY VY IL U= TRLSEND,

@ lkmELDIES TV Y OET
E_FEL LI,
X A 35+700=0.05
B 50-+800=0. 0625
lkm A5 DIZ 0.05L 9 A L.
1km £ % DT 0. 0625L f# 9 B T,
BDOHMN 1km EDDIZEL ATV Y v
D,

Kz (B ) OHBIEOKGFMN,
lkmELDITH YV o E2ELFE,

(2] 3243576 OB E—F L, 42
73 882 O HFWE—E L TiE, &
B HZNTT D,

X 1EY720 O TR,
JR 576-+32=18
% 882+42=21

TRVE—FE, 1 E%S720 18 [,
Foe—Eix, 1E4729 21 [,
LoT, RobE—EDFREZNT L
NTID o

#x ( Foe—% )

(3] 6m T840 HOAKED YR L, 5n
TT40 OB 7 a0 ) R ofis
ETHE, ImBH2) EL6RENTT
JARN

X ImY7-0ooReTHRS,
K 840-+6=140
Y7 T40-+-5=148

AKED VR E, ImH720 140 [,
o U AR In 24720 148 [,
YXoT, B0V RSDITNRE
W2 EDBGN D,

Kz (Im47=0 &%, v i
DYIRLDITNEN,)




oA 7ZH H A

5 £
14 BHASH-YDOKES
@ (NAFE)

Al

GE ik

2 BT 490 nfZHFTAD LT
H—& | 3T 6756 mAHFT B
FT o H—TIE, 1 BT 0TI
EHLONEHEET I

2 LR 72 D ACHF A Tl D
A 490+2=245
B 675+3=225

1 B4 720 245 A D A &

1 B2 720 225 ni & $kE %5 B Tl

ADIFH 1 BEREYS 72 0\ CHH D ik

MEN,

Kz ( ADNT 7 H— )

(7) OFIRIIE, 4 I 280 &
WEIRICX 37, () OHIRIFEIL, 5
4y 400 FWEIRICE £,

O &6 5OEIRBED T3, 3 < FIl
TEXETh,

1 o EICHIRTE 5 W TS
(7) 280+4=170
(1) 400+5=80

N 70 EWEIRITE 5 (7)) &
SN 80 FWHIMITX 5 (A) T
L. () DD, EHLSEIRTE 5,

1
1

Zx4 ( (ORI )

@ (7) OHIREEIE, 9 i rE v
FIRIC & E9°D,

X OTHRW LT, (7)) OFIk
BEIX 1AM 70 EWVEIRITX 5
MNH, 9o HTE L.

70X 9=630

Kz (630 )

@ () OHIRIKET 1120 W EIRIS
DITIE, A5 0 F T,

X OTHNT=L D1, (1) DHIR
REIT 1452 80 £ W EIRITX 5
6. 1120 TNE &

1120--80=14

Ez (

=

14 47 [H] )

ADHOERT 11a, BOHOHE
FEIL 14a T, ADHN B 550ky
DD, BOHD BT 840kg DK
ENFE LT, ARILSEnTEnZ
HDIE, A, BELHLOHTT D,

N 1laY7e TENTEKDOETEHRS

A 550+11=50

B 840+-14=60

la47= v kN 50kg EALH AL,
la 7= v k2% 60kg & 715 B T,
BOIBABNEILS ENTZENZ D,

Kz ( BOH )




B ATZH H A

S¥ _E M
14 | EELFRVORSES |\
5] (AOEE) o

la 7= 50kg DK% LD HA
IET, 600kg DKM ENE LTz, H
MEDIES X ad ) 95,

£ 600+-50=12

12a )

12L DH VY 2T 150km A5 HB)
HOAHY £, ZOHBHIL 60L D
YU T km EVE T D,
2. 12L T 150km
60L T [Jkm

WLV Y o TChELHBREZRD S &
150+12=12.5
IL DAY VU T 12. 5km A5 DT,
60L 72 6 .

12.5X60=750

(Bl
60+12=5
150 X 5="750

Bz ( 750km )

IL DAY T2 5 DN %%
ZEMTEET, 15 mDONRERD
L&, AL O DPMLETE D,

x 15+2.5=6

B I OFRIE 130k i T, AN
BT 1T kmi47-=9 50 A CT9, ZD
HT DO NI ATE E WA D,
A 130k miX. 1k i@ 130 572D T

lk m¥4720 DA% (50 N) %

130 54 %,

50 X 130=6500

Kz ( 6500 A )




